i =

S/h e whe gl(x)> ()

Sac e P«y( 0 |ac %r x ™M (r—Ooi 2’)
aué\ (5’/“)

(,LLC’\"-’“"\D Lor = Ia (_2,)4;\3

Jusr a\aﬁkml cf»\\j B

1;(’61' Q\“‘} J&L c}u‘(ic*\ -Hf§7

r\)\ua o~ \/a,\wj i~ &ijw\ P See

U\Wﬂ_ /g\/ It ‘705 N9 "“ej

g/CX) = %*q_ L{y%— {ZK,?’ + S

Svy Do 45 e & boe .

[
yém = (260 12 4 x sdrly

= (Zx(xx’x»?/ >



@’m = (x(x-1 )(x4 \)j

Cwq"ﬁj
§ oo 12k (x-2)(x+1) = &
|7x =© X-2 o x+ 20
X=0 X=17 x= -\
ffove  (wlx)
(& # . 0y ~\, 2. @/w) = (Zx<xf7, )(x—\\)j
X ~\ o s
— | \ '\
gl. — 6 "l/ c == o 7%"
- o\—.JB“ I~
7 oot &5\"?
(N A TEVA behee” - il e e

flay = 2V (e
“"”{""—‘ ° _‘— -~ —

Mﬂ = (2.2 (21 (24
oL ¥

3[/(-7/)7 12 - (nH(-2- A1)
+ = = —

Sl )z () (122 )K=t a0 )



- T %
50 Af/ iﬁ lac  on <’l)®>£ (2/@5

jz S T g (©,27)

RV !

fur = Z

x—4
A
/ (x—us-zx /g—\;w
K(xr» —
(x-u)
9% - Bx - a7
-
(-
S .
(x -4
[
§~o (DD o
— x4

a1z O (x~%\1/

(x=T9\ Y

D



jc/, ~[—/ 6 — DNE — V) ‘l”

6-1)(0- 1) - - =
fr, s T < 4
(o—‘\\ I
) (we ow (-=> DRANZD
(o Gomasb - x
{2y~ Cr Ty far o~ (LMD 2 CHLT)
/ (5= — .+
ac(g\: —_— - —_— = -
¢ A \ v
(g-1) 3" _ A A /J’ /’\ ,

UDQ/ Cao~ woe /K“+ Sav~a C\""r“ ’\’D
\Wﬁf‘) \oc«\ Min L ey s.



‘:\/M TC\p Tr\lf% ‘DU.L\[%eJQ TQ@*

(,OV\'\:lv\v'DLLS "d '
" e

® _E,q/ ,?. Ta}, Qraw\ e b doC  rear ¢, ’Ke—vx Y local MK
o - - - 6\% ""’ T MA
¢ I&( -? 30@5 ‘l'\c o iac o f ;LC -{—» (L.(LC, 9 «i’eb-/\

C % m“f o~ \pcu\ warx 60 i

?(@VKDM MM“FL""’

So =l v o local o (Dws T + \3
7(*7 o~ loeal  ani- ("" o -‘\'3

(X’.\-\ Iz e A Wb of v«m<>



Ey

j&x)’/ 24 Um%*‘ (
&M& i,\k/\/»«xs u)\'wtf iFs e /c{LC)

L\\ \ "(-\%\‘w? ﬁv( lo(a.[ e xteema

) — —
£onk /e
ARG
o
X -\ \

,g,(h
Plieny= 2yt

yoL -

Yl v )

/V(-‘M SR EIA

+ F 4~
flo= (2 F (A
(~1,0) X((o)aO)
Yo v (=) "\3

iv\c_ on

X';’\ N \oc.\( -



o
- 14

F\\

[}

<
[



t \\ Cone. V\"’
e

'(,\Q\LC\'{O (e

[1 A%

goit
&%H ~ o\

.

i‘,l{,gwy\s X:b( (mc«u\%

. +
(oncavtl UL(: (-—"’,\\ K/ (L)b\ "\%u'\'\‘bv\ 17“77 g
= \)’2)5

Concast Govy: (4,2 ﬁ (3,2



Note: me o (050 L C2,4)
for: (-=,2) L (4,2

'(/L-\»u\m(s R CQV\CQV:\D UvS(\D “I’R‘_ -C.,/\,W\L\
- s s

2‘0 Syt VWC@—O\PJ@ z> \"\C/CI&-C,
TR O A T

I
_\_.\ '\,A»vvw\s onece X5 (oncave UP /C(owv&\

/ffﬁk): (2)(71 \7,%?" 2%

gf’(m«, 3bx - 24y - LY

- —

\

v

o 12 (’9{2’/2,(/ 2= O



. —
cUs \, 215

v

{7y = (B e )
-~ (’2/. ‘f)

f o e VP i)
g\ L\.?_\S ) < h)

o e gl ‘\QuV\'. (,—g‘q%/]lilg




